1. KaneHgapHbIn y4e0OHbIN rpaduk

CeHT6pb OkTs6pb Hos6pb [ekabpb SlHBapb deBpanb Mapt Anpenb Mait MioHb Wionb ABryct
n — — n (2] n ~
“lelala] |e|2[&] |~|2[5|&]| 7 |e[a|x] |[w[d]2] |[V[o]28] [“[o]|2]|a] [o|a]|g] [+|=|2|a][~|=|a[a] [e|a[g] ["]|2]5][
112]3|4|5|6(7|8]|9]10]11|12|13(14[15(16]17]|18|19|20(21(22(23|24]|25|26]|27|28(29(30|31]32]|33|34|35(36(37|38]39]|40|41|42(43[44|45|46]|47|48|49(50(51(52
I =|3|3|3(K D[2|Y|Y|K|IK|K[K|K[K|K
II =|3|3|3(K DI2|Y|Y|K|IK|K[K|K[K|K
11 =|3|3|3(K DIYI|YIY|Y|IK|K[K|K[K|K
v =|3|3|3(K 20NN NIK|KIK|K[K|K
v =|3|3|3(K D3| K|IK|K[K|K[K|K[K|K
2. CBOAHbIE AAHHbIE
Kypc 1 Kypc 2 Kypc 3 Kypc 4 Kypc 5 Kypc 6 Uroro
ceM. 1| cem. 2| Bcero | cem. 1| cem. 2| Bcero | cem. 1| cem. 2 | Bcero | cem. 1| cem. 2 | Bcero | cem. 1 | cem. 2 | Bcero | cem. 1 | cem. 2 | Bcero
TeopeTnyeckoe obyyeHne 18 18 36 18 18 36 18 18 36 18 18 36 18 18 36 180
3 [3k3aMeHaunoHHbIe ceccum 3 2 3 2 3 1 3 1 4 3 2 5 23
Y |YuebHas npaktuka (KOHUEHTP.) 2 2 2 2 4 8
%WeGHaﬂ npakTuka (paccpea.)
H [HayuyHo-uccnen. pabota (KOHUEHTp.)
V/j"’ HayuHo-uccnen. pabota (paccpea.)
M |Mpon3BoacTBeHHas NpakTuka (KOHLEHTP.) 4 4 12 12 16
f/ # |[lpon3BoaCTBEHHas NpakTuka (paccpes.)
[ |AvnnomHble paboTbl MM NPOEKTbI 8 8 8
I |loc. ak3aMeHbl n/vnu 3awmuta BKP
K [KaHukynbl 1 7 8 1 7 8 1 6 7 1 6 7 1 9 10 5 5 45
WUTtoro 22 29 51 22 29 51 22 29 51 22 29 51 22 29 51 25 25 | 280
CrypneHTOB 10 10 10 10 10 10
Mpynn 1 1 1 1 1 1




